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�W



�
���(��������� �0���� Fk 
���������3�� 
����
3( 
����0��3/
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1. f = x3 − 2x − 5, [0, 3], 2. f = x3 − 0.001, [−1, 1],

3. f = ln(x + 2/3), [0, 1], 4. f = QRSB(x − 2)
√
|x − 2|, [1, 4],

5. f = arctan(x) − π
3
, [0, 5], 6. f = 1/(x − π), [0, 5].
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f(x) =
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1, x = 0
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x, −1 ≤ x < 1

−1, x < −1
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f(x) =
sin x

x
, f(x) = xα sin x, f(x) =

a1x
2 + b1x + c1

a2x2 + b2x + c2
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f ′(x) = lim
h→0

f(x + h) − f(x)

h
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f(x) =

⎡
⎣ x sin(1/x), x �= 0

0, x = 0
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f(x + h) − f(x)
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1

2!
f ′′(x)h +

1

3!
f ′′′(x)h2 + . . . cX �d
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3 (ẋ1, ẋ2, . . . , ẋn) 
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ẍ − x + y + z = 0, x(0) = 1, ẋ(0) = 0

ÿ − y + x + z = 0, y(0) = 0, ẏ(0) = 0

z̈ − z + x + y = 0, z(0) = 0, ż(0) = 0
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y(4) + y(3) = cos t, y(0) = 0, ẏ(0) = 0, ÿ(0) = 0, y(3)(0) = 2
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α(t) = k2ẏ(t)2 T/��
�� ���(3 0����� 0���45�
��� 
 �
�
 
���� �

��(�5 0�
 k1 = 1/150 
 k2 = 4/150 

S[ 2������ ���� � ���
�� �������3�� S� (����� c�����
������ ��� ���
��d 

��
�/���� 4��
� �
�(���� S �( 0����� � ������ � �( ��� 
�����(

���� T/��
�� ���(3" �� ������� 4��
� 
0���� �� ��� ���
�� 

SWY



SX ������
�� 
 ��4
�� 
������
� ��
&��
3 	�
��� �� 0�
&
�� $���

�
 	�
���" ��f��
/
��� ����
3 � 0����%����� 
 &�������� 0�
&
��"

��
���� �������(
 

SY ����������� ���/
������� ��4��
3 
������
� ��������� �� !�
��"

�0
����5Z�� ��
&��
� ����� �� (���������"

(1 − v)y′ + a
2

3
yy′ + b

1

6
y′′′ = 0,

0�
 �����% ������
3% 0���(����� 

S\ 2������
� ��
&��
3 ����" 0������5Z��� ����� (���
���� 4�� 0�����

3���� 0�������


y′′ + G
4

3
πρr3(y)y−2 = 0,

r(y) =

⎧⎨
⎩ |y|, |y| < R,

R, |y| > R.

T��	�������5 ������ �����
 3��3���3 ������
�
����
� %������� ���

f��
/
����� � 
������

 '���
 ��������� 
����
3 0�
 ������% ����

�������� 
� 4���" � ����( ������Z����3 

�� .���(���
( ��������
5 ��
&��
3 0
�
 0�� ������
�( �
�� �3&���
"

����� �
�� ��0���
����
3 ����
%� 0��0��/
������� �������
 ������

��
 �
��� (���� 0
�
 � S� ���((" 0�0�����
� � S �(" 0�������� ����

�
%� � S �
�����(( �� �
	
����
� (��� $�����( ������	� ��4
��


������
3 ��
&��
3 ���" ���	� x(0) = y(0) = 0" 
 x(6) = 20, y(6) = 0 

� ����� 0����4�����5 ��4��� �����3 ����
���3 �������

�S �����
� ���� � �3���� &
�����
 0�� ������
�( �
�� �3&���
 �
��

�3&���
 �0�����3���3 0�������3(
 ���� ρ 
 &
�����
 ρ0

F = (ρ − ρ0)
4

3
πr3g.

b���� r � ���

� ����" g � 
������
� ���	������ 0����
3 ! ��
���

����
������� ���� � ���/
������( 0�
	�
&��

 ������
5Z�3 �� ����

�
�� ��0���
����
3 
(��� �
�

Fc = −6πηrv

SW\



b���� η � ��f��
/
��� �3�����
" v � �������� ���� !����� �����

'�5���� � ����
���/
������( 0�
	�
&��

 0�
�	������ �
�

y′′ = Ay′ + B.

�
��� � ��������� (�(��� ������ 0���&��
� ���� 
 ��� ��������

y(0) = y0, y′(0) = y′
0

)��	
���3 ��0
���� 0�����((
 ��3 ��4��
3 
�������� �����
 ��4



 
���������� %������� ��
&��
3 � ���
�
(���
 �� ������4��
3 0����

(����� �
���(� 

�� ����������� 3����
3 ��������� 
 	
��
� � �
���(�

d2x

dt2
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